M8 [ [ B N B 020 1838 [1O [FILHE & il DL S10 | soysem oo [@l kB i il V | 010 yeys ndino i 00
o108 Sn|d By 610 MAIDS [4g~Ye H ] HY N B 710 Surreog i i 74 600 A 1B1 Bode 00
o8uep Sunodsuuo)) T AR 810 o8uep 1010 TSP By €10 TTox urd Ik E 800 Surreag M I ¥g 74 €00
MDY [ e e B N L10 Jeys 1eaD) {34 1o 01 [[INQ) -{43¢ L00 Tea3 [ewroiu] [ 7! iyl 200
106l 110N F 2 P b 910 Surreag M i [7: ¥ 110 1ea3 Arepoueld 43 L) 900 [e9s [1O FEIAHE H il OL 100

S Adsk

G2 Ak

A A

A Ak




4 5F 572

P anfEtE /PRODUCTS FEATURES

WA EER LR &2W, Zfik - RiLsak
B, AT ARAT e B TR S A o e B

AT RACR A — R (G 1
ST, R SRS A T A
RN, TR SE B —REE M, LI
PRAE S O IR AR L

7 S i e R — ket R
Bt , SIBIE, AR E0R A+
B . — BT RERUERT A JLT R
—UHEIMToE K, SHENRNA, S
SELSAAE H R S ORGSR

FIHT ANSYS H AR 14 58 56 B2 BEAT A7 FR o070
B, I mE A S R, DI
ARG A e IR, SN A R AR

FF Al o

i Al 5 B R R T — B, UR
BEXSFRI A, IR BB B R, ad i X
R A 5R IBOE, AR 1k B ML A% B 4T
i, SRR L.




BRI EREYBHIA

FEmM#EiA /PRODUCTS OVERVIEW

RS /products features

K AT RN CEN LT 7 F R A — RS =, G T RPN, B AR —2e B0
MRS . KT 65dbs

fGAFBR: SR ATIR 3 90PN, XTIk 5 904N .

AR, BB 95% LA B, RUERRE 92% L k.

T A%, Tl ik 8000RPM

A LRI T A LA A R

. ERGEN. RAEMRES SN, B RAEAbTE, JE R R ek, B A Ay KA A R )
7. ERGE R SRAMEAE T, AT RN B, MRk 171000 DL

Precision planetary gear reducer is a new—generation of product developed by our company , with a compromise of advanced

AN N AW N =

technology both at home and abroad , its main features are as follows:

1. Low Noise: Under 65db.

2. Low Backlash: Backlash is under 3 arcmin. Backlash for 2—stage speed reduction is within 5 arcmin.

3. High Efficiency: Efficiency for 1-stage model exceeds 95%, For 2—stage model exceeds 92%.

4. High Input Speed: Input speed allows for up to 8000 RPM.

5. High Torque: Higher torque output than that of conventional planetary gear reducers.

6. High Stability: Employs high tensile strength alloy steel. Gear hardening is made for the entire gear instead of only surface
hardening , which extends gear service life and maintain high accuracy as new after a long period of operation.

7. High Speed Reduction Ratio: The gear reducer is a modular deign. The planetary gear box can be connected. Speed reduction ratio

is over 1/1000.

FEERAEI& /Product usage

RAT AR I LB 2 T AT 4K

- WEAUR . B

2. BIY TR BT EEEA L.

3. TalkBLER AL A Al B LR Sl

4. RAWGE . 58L. B B 1R BMRTRR . GREYIIRAE .

Precision Planetary Gear Reducer is widely used in the following domain:

—_

1. Aerospace, military industry.
2. Medical health, electronic information industry.
3. Industrial robots, Production automation, CNC machine tool manufacturing industry.

4. Motor, textile, printing, food, metallurgical, environmental protection engineering, warehouse logistics industry.



S T2 RE L%

TRRMAEFE R RSN /GEAR UNIT SELECTION & ANNOUNCEMENTS

TEFENIAEE! /Planetary reducer selection

BERCAT A AL 1% B 5 P RN ZE B AR S A i S0, R A T RIS AL A AR T bR, RRET AL 15 7 (9 2R LA
TAWRA ., W7 5 CRR” ERMANGR S SRR R AL BUSRRA FERUA PRI IR AT R GE LR
WHE,

T FHIRGAALI 5 FE R A ISR | JRERRE Sy | WG L . itk L b Iy

fer gy HECRITE . 95 BRAF N LETERERRAR

FENFHIELFIA . TOAME . TAERSAERINRINR . ORI, WSH LT LR, SO ot
L BIEHAASAREE

LETER
IR

Step

7 BB RO T, P
8 AR ARG B P
o miommm
0 RESEEEROR
o wsmsEs
B o Py RIRSE A AR AR P

T, BRI a Ir it (R DA s Poy s Tox A IEPRIBGHAIL T A DA A

Step2 : FEFMTITERMERNAIEELS R T 49 CAD = PDF B4 , IEFBESELS a0 : KAB090-05-S2-P2/MHMD-082GIU

Output Input
90x90 150 90x90
. 475 8
|36 J_OJ
il g
— Ll —~
8 @ r==T @
- === N ¥ i iy iy [
8 9 L —— L N
I
I
\ I
1 1
116
10
46
LY 5 fEFIE® | 20000hr(EEHEREHHE)
EMHALE Ton 160Nm IRSE <60dB
RIS Tonor | 25MBNEMILIRE | ERERE -10~+90°C TR
EEBMNEE nyy 4000rpm Jyizia==s3 P65 -
BAENIEE nyp 8000rpm Eig ARk &ﬂ‘lm E&Iﬁ% 5 = 5 1 090 ~+&
TREERIME 14Nm/arcmin SEARE J1 0.47kg-cm? = Sl " KAB090-L1-5%3 R~F
YRR Fy 3250N RS P2 <Sarcmin Hi i | [ L2
BYFIRIET] Frgg 1300N 2 n 295% I fie3 SO BRI © =] 2017-10-09




BT EREYEE

TR AR B EREE IR /GEAR UNIT SELECTION & ANNOUNCEMENTS

SiEEBERIIERNIS

Ratio Ji( 3£ [
R i A i
nl[rpm]

i e
ny[rpm]

Poles
B9

Efficiency

(I ES

Average lifetime

Precise positioning

E QL

Backlash
[ 72 ] B R

R 2k

Inertia

The proportion of inertia
fitad

Noise
I

Operation conditions

TAEM

/Base concepts of precision planetary gear boxes
Input speed/Output speed % H 735 b A%

ALK S, SRS FL BN, T (5 FURSEE TR o A5 AR e AP AR R
FEREE N 20°CHYZEAT T IATEY . PRI AL I T IR A% 3 n1

i H A A IR 9 A S I AR ) R SIEL i B R 0y = ny/i

The number of set of planetary gear. Oweing to one set planetary gear can ' t satisfy bigger transmission ratio, two or

three sets can meet Users ' requirements of bigger transimission ratio. Since increasing the gear quantity, the length
of two or three poles motor will increase accordingly, of course, the efficiency will reduce accordingly.

TR EL. T &7 RIS IR R RORIE L, A7 I A5 2P = kel ] P A RS 3
PertsR, eyt s LB B / RO Z . T T AT R I R, T A T LY K
JESA TS, BRSSP

If refers to the gearing efficiency of the gearboxes in the case of the largest load.

FETERUE LA OU T, BUEALAOFRCR . B HLIR, AR Z, JCRHAR.

Refers to the continuous working time of the gearboxes of the highestinputrev.

TR LTERUE AT, WU AR B AL S T AR

In high-speed reciprocating mechanical movement achieve precise positioning is the key to minimizing the movement
through the angular deviation, positioning accuracy depends on the two values, with a load of the rotation angle, involv—
ing partial synchronization the problem worse.

T ey AU E 5212 20 P PR 2 (O 10 DS E T i Nl B 2= A I 22 o 5 (RS LR T PN,
ARG INEA A f, W B AR R AN s 5 AR S bt e i i, W BN
oAl 22 (Rl

VAL HE - A SR R I 25 A, I B e I A e A B R, SRS e R il A AN g — e h
M (2%Ty ), LASe IRIBGEAL N I EEE T .

R A @ arcmin]
b AT
. _ AT
Co= e
[ ]
b 4
o
|
- : -
i 100%
“Tim] Tinime]

2nE R
IRy 1A HRCE HL B NI, A A

FRHIN L A, SERe s p LU A s e, A Y - o]
e R H S ) T 16 53 R I A R T, LB

A oA, kR EIE, TS IR

2, BRI — A A ML, Wrbal BUT5

IR AR ER (G FHIFERIEL (Co) o

Moment of the rotary inertiain this description refers to that at the input terminal. Said an object strive to maintain their
rotational state(or a stationary of rotation) characteristics of a value.

AL I EI S A . 2R — IS T IR A A SRS (BB 8l ) RHIER —AME.

Refer to the ration of load inertia and inertia drive system (motor with gearbox). This ratio determines the controllable of
the N value, the greater is the moment of inertia greater margin, high—dynamic action on the more difficult process of
precision control. The values can be control in 5, gearboxes can be used to reduce load 1/i*.

SEAR AR SEFh Rt (LN RGN ) Z A LLIE . XA ETRE T RGN, N B,
WUBTRASHE ST 2E ORI R AR AURERT I, B BUSTTRERE N (HIEHITE < 5. HieAl
TLUR SRR 147

The unit is decibel (db). The value is measured when the input rev is 3000r/m without load and at the distance of one
meter from the gearboxes.

BRSO (db) o EIERTESR ASEH N 3000 56/ 43F, Ay 148, BR s yGHL— K BRI e (1)

Operating temp/ T /EIRJE °C -10°C ~ +90°C.
Degree of protection/ 144 1P54/1P65
Lubrication/ ¥ Life time lubrication/ KA, 4 LU JETHA I 7]
Mounting position/ %377 3 Any/ {175,




BT EREYEE

RRAN AR A ARSI /GEAR UNIT SELECTION & ANNOUNCEMENTS

585 IR AES /Base concepts of precision planetary gear boxes

€ i AL
Ton[Nm]

pIIBLETiViE
[Nm]

KA SR
[Nm]

TR
Ty1o[Nm]

IEFN IR b
TZB

BRI AR AR
T,[Nm]

TR
Te,[Nm]

M
(Nm]

iy
Fa[N]

[ Ep]
Fr[N]

AR e e
ol 17 AT

WERH

N

GaEES ¢
f,

FAFNIEL Cy,y
[Nm/Arcmin]

ZH I
(Nm]

Special Notice
RESIE R

T2N[Nm] WAL AR (22 TAEGRD ) nTLUMERM 4 (JEEE ) | SR 35, ZeRi
S =1, 160/142 Pi EALEL, BT A 20000 /NG

18 TR AR/ DT 1000 Y FR iR i 1] R B0 o (9 e R 3. TARJA AR/ NS R T 1000 UCHT, 23
i IR BT P ) AR A (Y — R RARL, BRI AN Iy RN T Top, 150 2245
SR HLA A

BRI L L i T R N B R T, 3 A 0 AT AEBGE ML A A BT N2 1000 ¥, X5 RRE#E R 1000 . (4
#: PF/KABI142 DL FHLEH Toor = 2%To KABI80 KL FHLEI N Toyor = 1.5%Tyy )

BN A AL P LA o A AL P R4 D ) T 5

TR ALAE 180 2385 2 P B0 R B 46 1 B R AR SZ AR H R, 300 8 R VB {1 07 8 ) Bk

JI AR AR T B3 & B SEBR L, AU HL A A E AR Toy L AUK TR HAR

SAELE BN B IR, wT A SEBnpr i B0 T, RS fs, #2ULUF ARG T, = To*fs<Ty

AR 0 AR 1) DA FY T s iR AR 18 2 0 R . S A SN Moy = [Fa*y,+Fr¥(X,+Z,))/1000

RARTAT T RO I — 0, EREH S5 b g — 2 Mz () W, SRR — MM S 5.
il i) B A IR B AUE (AN AU IR R X A S 1

TR EAE TR i — A0, e AT T, e S5 2 AR (X)) o AR
IR N T CIVA 0 R N £ 7V E

4G 0 AL AT BRSO B A2 il o o PO A i A R v B o G B R A el K PR R R BE D e T VR i
PRE R FIEAT 7= b A 2 R IR TR VR EDR TR AR i AR R 7 0 A I e i b (RO 120 4D 1975
I R I, BREGE RS, YRR R ISR B AR, MR SRS R AR, AV AR 1 B
L%

2 B AR TIRE N AUE N D) 2 5 LD 2 K LU AR .

i AR B DL B S HIRFAE, &5 S8 B LAY S SRS H AR I ) o

EHIN R R A LA 2 T L3k Lo Cypy = AT/A B ULHI R 2 KM 05 A4 et s th il 2) —
INI3 o AL P PRE A ARV E A5 1o £ 2R 1] B R SRR Tog 19 50% £ 100% XA, AEIXAERIA
T o — 2 E

IR AL 2 DL rE L S L B 2o e CRY N BISR ] S E BB s 205K, #R A U SR . U] Jo3E
WTRGEM LRI IR

You can only refer to the input terminal dimension given in this book, special dimension is depend on the shaft exten-
sion terminal of chosen motor, practical object ' s dimension will be difference with these in book, the practical is
depend on the finished product, the output terminal dimension is according to these given in this book if not sign.

The weight of reduce motor given in this book is approximation, the practical is depend on the
finished product.

A5 4 B T S B S RO A 2, LA ROST el i R LB b e s RS e, L SE B R S
AT WA P2, BT WD S RIARE I A E, 7R SR R R RS T D3 AL PR A i )OS DA e
A AT DR LB O A, SPR B LASEBR i, PR 2 AR I Wi



KAB R 3
aBE
SHFENIM
KRS

AR RRTT

KAB Series
Unipolar / Bipolar

SHLHE
R (97%)
Sled=2

B LIRS’




KAB RIIFBE1TERIEN]

BUSi588 /MODEL ILLUMINATE

KAB090

AL
KABO042/KABO60/KAB090
KABI15/KAB142/KAB180/KAB220

il A ST: S B ThIRFL:
S2: B EA Ly ik it

B PO: AT
Pl: Ki%iFBR
P2: BRUETTHR

VR, g (L1) : 3.4,57.10
WL (12) : 15,20,25,30,35.40,50,70,100




KAB RIIBE1TERIE

RN IEBESEEL /GEAR BOX PERFORMANCE INFORMATION

Il L Sl 45

1. W (i = N/N,,)
* LA AT S 02—
2. R 100rpm B, AR T Rl O




KAB ZRIIEE1TERUENL
RN L YR R I

THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE OF REDUCER OUTPUT SHAFT

I AL 4 b T RE 7R 32 2 R KA 18 g B T, KRl AT
SRR Z B, DG LR R ST (7R S BB B )
Bt HREARZHR AR ) K f 4

F. Zm@Ah
F.. @A

BIFEES FaulN] FES TP OMIE

100,000

60,000 —

40,000 -
— KAB220
o § KAB180

6,000 =
; KAB142
- KAB115
T KABO90

1,000 -
KABO60
- LN . TT—_ KABO042

10 20 40 B0 100 200 400 600 1000 2000
e E n, [rpm ]
ERETEREK,

B —
A KAB042
12 KABO60
11 KAB090
;ﬁ KAB115
os B KAB142
07 KAB180
0.5 B KAB220

0.5
04
03

120 160 200 240

BEARENEIEX[mm]

0 40 80

* S IR A 2 —.

-



MODEL: KAB
B4 1-Stage
RATIO: 3.4.5.7.10

B7

[IB1 _ B5 B6 C4 ocy

Unit: mm

AN EIENEE NN

B2 26 37 48 65 97 105 138
B4 16 25 32 40 65 70 90
B6 4 6 8 10 12 15 20

M4X10 M5X12 M8X25 M8X25
Max1o M5X12 M8X25 M12X28 M12X23 MI2X30 MI2X30

34, 44 44, 50, 60 65. 80.5 67.5. 83

M3 x P0.5 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5

-———-———
o1l
e




MODEL: KAB
W& 2-Stage
RATIO: 15 20 25 30 35 40 50 70 100

ca

B2
B5 c4
LIB: B4 B6 AS Ocy

1 o

i B . A
e

BA4 n7

A VIEW

Unit: mm

ENEEEIEIENERENEN

M4X10 M5X12 M6X12 M8X25
Max1o M5X12 M6X12 M8X25 M12X28 MI2X30 MI2X30

44, 50. 60 65. 80.5

M3 x P0.5 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5

163, 173 213, 229 287, 302

-k



KABR %3
aBE
SHFENIM
KRS

AR RRTT

KABR Series
Unipolar / Bipolar

SHLHE
RE (95%)
Sled=2

B LIRS’




KABR RIBZEITEIRIE

BUSi588 /MODEL ILLUMINATE

KABR090

HGHL Y

KABRO42/KABRO60/KABR090
KABR115/KABR142/KABR180/KABR220

VR, g (L1) : 3.4,57.10
WL (12) : 15,20,25,30,40,50,70,100

il A ST: S B ThIRFL:
S2: B EA Ly ik it

B PO: AT
Pl: Ki%iFBR
P2: BRUETTHR




KABR RIIEE 1 TEREN]
TSR L SR R

THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE OF REDUCER OUTPUT SHAFT

Faz Faut BBt T Rl 2 2 A 6 ) K 97, AR

= = SCEERR Z B, LR R N (A 7R S R BS HE FY
Bt HCABARZ BRI 1 Bl i 54 o

F. &A%

F.. $li@ )

BIFEET FauN] FEA TS

100,000
60,000 —
40,000 -
p— ___ KAB220
- - KAB180
: —  KAB142
- = KAB115
R . KAB090
1,000 &= el i g
T - KAB060
= L _ TT—— KAB042
10 20 40 60 100 200 400 600 1000 2000
S E n, [ rpm ]
ERTRHK,
- p——
A KAB042
12 KAB060
11 KAB090
;ﬁ " KAB115
i KAB142
07 - : — KAB180
0.6 : — KAB220
son ]
04
03
360 400

0 40 80 120 200

ZEAhENEEX[mm]

* SR IR i 2 —.

T



KABR 2551 T2 RHE]

IR MBSl /GEAR BOX PERFORMANCE INFORMATION

1. JE e (i = N/N,,)
* BRG] 2 —
2. H R 100mpm B, AR H Rl O 7

e 16



MODEL: KABR
B4 1-Stage
RATIO: 3.4.5.7.10

©A4 nr

Unit: mm

---——---

---——---

---——---

---——---

---——---

---——---
155, 160, 175  201.5. 226.5 236. 255

107

70. 90 90, 115, 145, 200 145, 200
19, 22
V14019 19, 22, 24 2%, 35 22, 24, 35
50. 70 70. 95. 110, 114.3 110, 114.3 114.3

60, 80 90, 100, 130.

142,
Lo s e momos mow mow s s
o 17 ¢
e



MODEL: KABR
W& 2-Stage
RATIO: 15 20 25 30 35 40 50 70 100

k4]
= |

PA4 b7
u

B2

Unit: mm

- \

144. 154 204, 209 256+ 281
70. 90 90. 115 145. 200
19, 22
I 19, 22, 24
24, 35
50, 70 70, 95, 110 110, 1143 114.3 1143
60. 80 100, 130 130, 180




KAD A3
aBE
SHFENIM
KRS

AR RRTT

KAD Series
Unipolar / Bipolar

SHLHE
RE (97%)
Sled=2

B LIRS’




KAD RIEEITERIE]

BUSi588 /MODEL ILLUMINATE

KAD064

Yl AL L. PO EKEEITER
KADO047/KADO64/KAD090 P1: FE%EP
KAD110/KAD140/KAD200/KAD255 P2: FRIEEBR

R, g (L1) - 4,5,7,10 kRS,
WL (L2) : 20,25.35.40,50,70,100 ikl KA




KAD RISEITERIEL

RN IEBESEEL /GEAR BOX PERFORMANCE INFORMATION

Il AL S5

1. Wk (i = Ny/N,,)
* P EHEFE AT i 02—
2. HBFEE 100rpm I, VR T4 El RO E




MODEL: KAD

B4 1—Stage
RATIO: 4.5.7.10

m 0
B2 B7 ; C4
1-A10 4, B4 . BS
B desp a5
£
—B,
; =
eI Al (T %—j :
A 2le - =H- &
HERRS yiaie: S
)\
B3

Unit: mm

ENEEEEEIEIENEREN

A3 h7

----————
----————
----————

4-M3xP0.5 7-M5xP0.8 7-M6xP1.0 11-M6xP1.0 11-M8xP1.25 11-M10xP1.5 12-M16 x P2.0

----————
Bl h7

----————
----————
----————

5 104.5,117.5 164,172 199.5 256.5
M4 % 10 M5 x 12 M8 x 25 M10 x 25
€2 Max10 M5 x 12 M6 x 12 M8 %25 M12 x 30 MI12 x 28 MI2 %28
47.60

M3 x P0.5 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5

o s e wm o w v wm
—



MODEL: KAD

W& 2—Stage
RATIO: 20,25,35,40,50,70,100

UL

OA3 4y
A8
0A6

-
@B1 |
I
BEiii
J';ce:
gc‘s HE

Unit: mm

AR NN

A3 h7
----————
----————
----————

4-M3xP0.5 7-M5xP0.8 7-M6xP1.0 11-M6xP1.0 11-M8xP1.25 11-M10xP1.5 12-M16 x P2.0

----————
Bl h7

----————
----————
----————

107.5 1225 149.5,162.5 205.5 256.5, 2645 3115
M4 x 10 M5 x 12 M8 x 25 M10 x 25
€2 Ma>10 M5 x 12 M6 x 12 M8 %25 M12 x 30 MI12 x 28 MI2 %28
47.60

M3 x P0.5 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5

o w e e e ow mm e
.



KADR &3
aBE
SHARENIM
RIS

ERRRTR

KADR Series
Unipolar / Bipolar

RHLHHE
RE (95%)
SIERE

B L=’




KADR R fS=1 TEm0E]

A58 /MODEL ILLUMINATE

KADR090

TEHLRR . WHL. PO: MEAEITER
KADR047/KADR064/KADR090 Pl: FEHH

KADR110/KADR140/KADR200/KADR255 P2: HRUETFBR

L Y (L1) : 457,10 Ry =
W (12) : 20,25,35,40,50,70,100 LS R T




KADR RS T2 R

TIENIEBESEEL /GEAR BOX PERFORMANCE INFORMATION

IR AL S8

1. Y (i=Nan/Nout )
2% LB R AR R 22—
2. F AR 100rpm B, VEFD Tk 24 B o

«26.0



MODEL: KADR
B4l 1—Stage
RATIO: 4.5.7.10

{A
CS s
c3 ]
2 T}
V 1
1
B3 Bz  B7 3 l [
_Bal] =2 .
L ¥ 3
n - | T |8
= i L)

l

A4,
L BA3
. GA8
I DAB
| | |
QB“ h
| :

Unit: mm

ENEEEEEN NN

A3 h7
A7 72 86 118 146 179 248 300
4-M3xP0.5 7-M5xP0.8 7-M6xP1.0 11-M6xP1.0 11-M8xP1.25 11-M10xP1.5 12-M16 x P2.0
Bl h7
B5 5 6 10 10 15 15 20
B7 4 4 7 8 10 12 18

105.5 163.6 227.5 332.5
Cww e e ms s
145, 200, 215
--------
19, 22, 24 22, 24, 28 35, 38 38, 42
B T
C5 H8 70, 110 110, 1143 114.3.
s e s s WS Wens s
80, 130 130, 180 155.
CE ot wew wew o wem o wem
111.5 164.5 2135 268.5

T



MODEL: KADR

W& 2—Stage
RATIO: 20,25,35,40,50,70,100

ja
C5.
cs
B2 E7 o)
w
1-BA10 s B4 g IB5 < !
B8 deep - 1
= (9]
L
[+2]
s (8
: N e
| o
¥ = i, Q
3[_-- i :-_-- B 1 3 ¢ o
= L Jui] A
(&) = W &
T ; g
B3 89

B10

Unit: mm
Al 67 79 109 135 168 233

280
-———————

A3 h7

4-M3 xP0.5 7-M5xP0.8 7-M6xP1.0 11-M6xP1.0 11-M8xP1.25 11-M10xP1.5 12-M16 x P2.0

B1h7

-—-—————
-———————
-———————
B7 4 4 7 8 10 12 18
-———————
105.5 163.6 227.5 3325

200, 215

145,

19, 22, 24 22,24, 28 35. 38 38, 42

C5 H8 70, 110 110, 114.3 1143,

80. 130 130.

155.
-———————

111.5 164.5 213.5 268.5




PE/PF Z& %
aSRE
S AENIM
(KIRS

AR RIRA

PE/PF Series
Unipolar / Bipolar

SHLHE
RE (97%)
Sled=2

B LIRS’




PE/PF RIS 1T EmEY]

BUSi588 /MODEL ILLUMINATE

PRI .
PE040/PFO40/PE060/PF060 PR B9 (L1) @ 345,710
PE090/PFO90/PE120 W (12) : 12,15,20,25,30,35,40,50,70,100

PF120/PE160/PF160

ik,

hikiilig KA




PE/PF R KSE1TERUE]

RN IEBESEEL /GEAR BOX PERFORMANCE INFORMATION

Il AL 215

L e (i=N,/N,,)

* RIS (S5) T2 AN 20,000 /N, #EEE (S1) F 2l H A MIFEE 50%
* TEBAE R AE 2% BiE S5 T2N B R s

2‘FZI'B\ F2bB %'ﬁﬂifgiﬁ IOOI'PHI HTL WFH:F%'EH%EF"Dﬁiﬁo




PE/PF R ¥SE1TERUE]

R A VR R R e

THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE OF REDUCER OUTPUT SHAFT

15
5 ol 17
19 | bEeis
12 \ - PECGO
2 PF0B0
E 1.0 \ \ PECSE
PF0g0
& 0 \\ 7, PETZ0
I £ oa rars PFi20
2a2 © 2ad B o7c A " FEISDJ
== e e 06 N NQSQ \.& Fragg
05 \:{’é— eSS
0.4 S, ] =
03 i B i e S
” | \"--.
Fzrérﬁjjj : 80 20 160 80 2
0 40 i 1 2000 240 2 320
F2a filim) 7

ERAMREAME X [mm]

ZiFRmH F2rB[N] KehFapifE

10,000 | i
|
1
Elnﬂn Qﬁﬁs%k
4,000 — = ;
~— S — PE160
o —— T PE120
—_— e~ T~/ PFi20
' a : - PEOS%0
—— 5 — PF090
< - y— ‘ PE060
Tl PFO080
. = ia PE040
100 L . PF040

10 20 40 60 100 200 400 600 1,000 2,

BIHEEE n2[rpm]

* PSRk (S1) TR 50%

g

«32



MODEL: PE
EB4% 1—Stage
RATIO: 3.4.5.7.10

B7
B5 B6 - C4 Oc?
OB1 B4 AS cé6
B3

g = = s
3 E 33 = 018
€ —P Bt

- 4-C2
PCDoC1
Unit: mm
D100 D130 D185

157,173,176 205,211,216

M4 x9 M4 x 10 M6 x 12 M8 x 25 M12 x 30

31,32 42,58,61 53,59,64

D



MODEL: PF

W& 2—Stage
RATIO: 12,15,20,25,30,35,40,50,70,100

B7
B5 B6 Cc4 gocy
OBl : B4 _ A5 Cc6

PA4 nv

PCDOAL PCDOCI

Unit: mm
D100 D130 D185

181,200 240,246

M4 x9 M4 x 10 M6 x 12 M8 x 25 M12 x 30

31,32 42,58,61 53,59,64

-



MODEL: PE
EB4% 1—Stage
RATIO: 3.4.5.7.10

B6
B5 c4
_B4 A5
_B3

o

0A4 hv
Ly
I

B2 4-C2
PCDoCl

Unit: mm

BN N N O N T

® 100 d 145

I B5 26 35 40 55 87
I 46,70 70,90,115,145 90,115,145

8,11,14 11,14,19,22 19,22,24

30,38,50 50,70,95,110 70,95,110

90,100,130 120,130

D o



MODEL: PE

W& 2—Stage
RATIO: 12,15,20,25,30,35,40,50,70,100

PA4 ny

4-C2
PCD@C.‘L

Unit: mm
d 100 D145

A5 35 5 6 8 8

B3 18

B5 26 35 40 55 87
46,70 70,90,115,145 90,115,145

8,11,14 11,14,19,22 19,22,24

30,38,50 50,70,95,110 70,95,110

90,100,130 120,130




EECREN IR

Selection Table of Motor for Reference
OiKixpReE®x

o ________
BR 42
Model ________

Input Bore
ANHLE| 8911 14,16,19 19,24 24,2832 35,38 38,42,48 42,4855
ﬁﬁ Power

________
1.5kw
3.75kw
_______
7.5kw

15kw

————————
 LLEFRIKAUISH, BRI [ e A | o

The table is for reference. The selected model shall be based on rated output torque.

Bushing F=
WE

PR T AR Al ik v £ e e A
TR A WEILT W AR, 7R
I P i A A 94 B PP R R AR

EERTLR
Shaft Bore
@B PA
WE_fe
Bushing Bore

T






